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359 | XIMaT | L | 410182%kkkkxxx0125 BRI HER = Y0000 4skxskkx%%53001145
360 | =% | B | 51152T#kkkrk*x4053 ;}r%g R =% Y00004skksksokk4x53001 146
361 | BHXR | 2o | 410325%%kkkkkk 702X ﬁ%i BT =% Y00004#skskskkx4%53001 147
362 | B4E4E | 2o | 410728%%kkkk%kx9820 ;};ﬁg BT =7 Y0000 4skkskkxxx%53001148
363 | HE KK | 5 | 411481kkkkrrrx7212 ;}%E BE0 =2 Y0000 4skkskkkxx%53001149
364 | BRI | B | 410928%kkkkxx6337 ;};ﬁg R =% Y00004skskskk4x53001 150
365 | SREER | Lo | 411522%kkkkk%x3327 ;};ﬁg R =% Y0000 4skskk43x53001 151
366 | dfEfE | 2o | 412829%kkkkkkk6021 ﬁ%i YR =% Y00004#skkskkx4%53001 152
367 | XMREF | Lo | 52242T#wkxkkxx0163 ;};ﬁg B =% Y00004ssksksksksokx53001 153
368 | JuifFFe | Lo | 410325%kkkkkxx2028 ;};’;E BHGR =% Y00004skskk44x53001 154
369 | 207 HE | &£ | 131127kkkxktokk 7008 ;};E BT =% Y0000 4sksksskkk453001 155
370 | ZFHUE | L2 | 411325%kkkkkk2340 ;};ﬁg =R =% Y0000 4sskssksiok#x53001156
371 | AREEZS | 5 | 410122%%kkkk%x0015 ;};ﬁi BT =% Y00004#skkskkx4%53001 157
372 | BRRIGT | Lo | 410522%%k%kk4%x0123 ﬁ%i HYGR =% Y00004ssksksksksokx53001 158
373 | THERL | 2 | 411325%kkkkk%%0044 ;};ﬁg BE0 =% Y00004#skkskkx4%53001 159
374 | A | 2 | 410504%kkkkkx%0040 ;};ﬁg BEG =% Y0000 4**xxxx+x53001160
375 | ZEHEFH | 2o | 410425%%kkkkkx6063 ﬁ%g BHER =% Y00004#skkkx4%53001161
376 | LIEFE | B | 411282%%kkkkkk4513 ﬁ%i BT =% Y00004#skkskkx4%53001 162
377 | ZERIR | 2o | 410184%%5kkk%%910X ;};ﬁg BT =7 Y00004skkskkxxx%53001163
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380 | MRAAI | B | 411329%kkkskxx531X ;};ﬁg R =% Y00004skksskk54x53001 166
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382 | HiE | x| 642222%kkkkkxx1029 ;};ﬁg YA =% Y00004skksksk0k44x53001 168
383 | vt | Lo | 41138 1sskskksiok* 7669 ;};’;E R A =% Y0000 4skkk4%%53001169
384 | HEE | B | 412828%kkkkkkk1656 ;};E BT =% Y0000 4sksks4skk4453001170
385 | ZNNE | Zx | 620503%%kkkkkk672X ;};ﬁg BHER = Y0000 4skkskkxxx%53001171
386 | BT | 5 | 410184%%kkkkkk0010 R BT =% Y00004#skskskkx4%53001 172
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387 | FHEEL | L | 410103%kkkxxx%0028 BRI HER = Y0000 4skkskkx%%53001173
388 | MM | B | 342423%wkkkrnk1197 ;}r%g HGR =% Y0000 4sskstsierk53001174
389 | THIE | Zr | 411024%%kkkkkx6307 ﬁ%i BT =% Y00004#skkskkx4%53001175
390 | ZRABF] | Zr | 41172 1skkksk0k%1822 ;};ﬁg SR A =% Y00004skkk4%%53001176
391 | XUFFHK | Lo | 412724%kk%%k%%1840 ;}%E BHGR =% Y00004skss0kk4x53001177
392 | XEE | Lo | 371302%%kkkk4k1822 ;};ﬁg HYGR =% Y0000 4otk k53001 178
393 | BRI | 2o | 510683%kkkkkkk3029 ;};ﬁg BN =% Y0000 4skskskskk4k53001179
394 | 5KFEE | Lo | 410185%wkkkkxk6028 ﬁ;jﬁ I =% Y00004sskskskssox53001 180
395 | WML | g | 411624%%kkkkkk]154X ;};ﬁg BT =% Y00004#skkskkx4%53001181
396 | BETE | & | 41018 1skkkkik5020 ;};ﬁg BER = Y0000 4skksk4xx53001182
397 | JFEHR | 2o | 411322%%kkkkkk1625 ;};E BT = Y0000 4skkskkxxx%53001183
398 | Ehh | L | 410822%skskskkkk 1527 ;};ﬁg BER =% Y00004sskskkxx%53001184
399 | TR | 2o | 41038 1skkksiorx6520 ;};ﬁjﬁ A =% Y0000 4skkk4xx53001185
400 | M2 | Lo | 410526%%55544%0301 ﬁ%g YA =2 Y0000 4**xxxx+x53001186
401 | BER | &£ | 411421%kkkxxx%6822 ;};ﬁg BE0 =% Y00004#skskskkx4%53001 187
402 | XEH | &£ | 41072THkkkkxxx%0228 ;};ﬁg BT =% Y00004#skskkkx4%53001 188
403 | EEEN | 2o | 411723%%kxkk%x8525 ﬁ%g BN = Y00004ksk*k%%%53001189
404 | HBIEE | 2 | 411426%%kk%xk%806X ﬁ;jﬁ R =% Y00004sksks0k54x53001 190
405 | MEE | 2o | 411528%kskskkkkk0080 ;};ﬁg BT =% Y00004#skkskkx4%53001191
406 | BEGE | L | 411628%kkskxkk5722 ;}%E BHGR =% Y00004skskskk4x53001 192
407 | TRAKFE | 2 | 4102235542526 ;};ﬁg R =% Y00004skkssokk4x53001193
408 | AT | 2o | 411681k 748X ;};ﬁg BHER =% Y0000 4sksks4kk44k53001194
409 | RIKIE | &£ | 411726%kkkkxxx446X ﬁ%i BT =7 Y0000 4skkkkxxx%53001195
410 | BKE | % | 410522%%xxkkk%0049 ;};ﬁg YA =2 Y0000 4***xxxx+x53001196
411 | B | 22 | 410425%kkkkk%%6167 ;};ﬁg BE0 =% Y00004#skkskkx4%53001197
412 | XIH& | 2o | A1172THkkkxx%%3521 ;};E BT =% Y00004#skskkkx4%53001 198
413 | FREUS | 2 | 410122%%kkxkxx0308 ;};ﬁg HY G =% Y00004ssskoksksokxk53001 199
414 | B | & | 41018 1sskeksknsk8729 N5 A =% Y0000 4skkk4%%53001200
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415 | FHEES | 40 | 4116245001844 BRI B8R =2 Y00004s5kk35k%4%%53001201
416 | EMRA | & | 411626%xkkxxx£0729 ;}r%g =R =% Y0000 4sskssksiorkx53001202
417 | PMEE | 2o | 370403%xkskkkkx]1825 ﬁ%i HER =% Y0000 4*s4k*kx4%53001203
418 | Bzl | % | 410881kkkkkkxx0106 ;};ﬁg HER =% Y00004#34kkkxx%53001204
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